

BID2025-18B LEAD SERVICE LINE REPLACEMENT PROGRAM – PHASE 5B FOR THE DEPARTMENT OF WATER AND SEWER, TRENTON WATER WORKS - BID OPENING DATE - JUNE 5, 2025 AT 11:00AM						FATAL FLAW		
NUMBER OF RESPONDENTS:	7							
NAME OF BIDDER	WATERS & BUGBEE, INC	DEWCON INC	ROMAN E&C CORP	PACIFIC CONSTRUCTION,LLC	GRADE CONSTRUCTION	UNDERGROUND UTILITIES CORP		MILLER PIPELINE, LLC
ADDRESS	75 SOUTH GOLD DRIVE	P.O. BOX 439	14 OGDEN STREET	531 US 22 EAST#240	110 PENNSYLVANIA AVENUE	711 COMMERCE ROAD	8850 CRAWFORDSVILLE ROAD	
CITY, STATE, ZIP	HAMILTON,NJ 08691	BASKING RIDGE, NJ 07920	NEWARK, NJ 07104	WHITE HOUSE STATION, NJ 08889	PATERSON, NJ 07503	LINDEN	INDIANAPOLIS, IN 46234	
CONTACT NAME	CHARLES P. WATERS	FRANK S. DEWEY	JOSEPH E. BELOTT, JR	MARTHA FONSECA	RALPH DIACO	RICHARD GOMES	JEFF SUTCLIFFE	
TELEPHONE	609 584 1100	908 832 5710	973 482 1123	908 439 4350	973 925 4021	908 862 8936	317 293 0278	
FAX	609 584 2200	908 832 0754	973 482 7154	908 439 9120	N/A	908 862 8690	318 293 8502	
E-MAIL	BIDS@WATERSANDBUGBEE.COM	DEWCONFNC.COM	ENGINEER@ROMANEQ.COM	MARTHA@PACIFCON.COM	RALPH@GRADECONSTRUCTION.NET	RGOMES@UJCCORP.COM	JEFF.SUTCLIFFE@MILLERPIPELINE.COM	
BID GUARANTEE - MANDATORY	FIDELITY AND DEPOSIT COMPANY OF MARYLAND 10% W.P.O.A. PATRICIA A. MOORE	PHILADELPHIA INDEMNITY INSURANCE COMPANY 10% W.P.O.A. LISA NOSAL	UNITED STATES FIRE INSURANCE COMPANY 10% W.P.O.A.PAMELA J. BOYLE	HARCO NATIONAL INSURANCE COMPANY10% W.P.O.A. MICHAEL E.CARADIMITROPOULU	LIBERTY MUTUAL SURETY 10% W.P.O.A. NATHAN J. ZAGERLE	TRAVELERS CASUALTY & SURETY COMPANY OF AMERICA 10% W.P.O.A. JUSTINE C. BAKER	ATLANTIC SPECIALTY INSURANCE COMPANY 10% W.P.O.A. KATHLEEN M. COEN	
CONSENT OF SURETY - MANDATORY	FIDELITY AND DEPOSIT COMPANY OF MARYLAND 10% W.P.O.A. PATRICIA A. MOORE	PHILADELPHIA INDEMNITY INSURANCE COMPANY 10% W.P.O.A. LISA NOSAL	UNITED STATES FIRE INSURANCE COMPANY 10% W.P.O.A.PAMELA J. BOYLE	HARCO NATIONAL INSURANCE COMPANY10% W.P.O.A. MICHAEL E.CARADIMITROPOULU	LIBERTY MUTUAL SURETY 10% W.P.O.A. NATHAN J. ZAGERLE	TRAVELERS CASUALTY & SURETY COMPANY OF AMERICA 10% W.P.O.A. JUSTINE C. BAKER	ATLANTIC SPECIALTY INSURANCE COMPANY 10% W.P.O.A. KATHLEEN M. COEN	
PERFORMANCE BOND	REQUIRED FROM AWARDED PROPOSER WITH SIGNED CONTRACTS							
LABOR AND MATERIAL (PAYMENT) BOND (REQUIRED WITH CON	AWARDED PROPOSER SHALL SUBMIT WITH THEIR PERFORMANCE BOND	AWARDED PROPOSER SHALL SUBMIT WITH THEIR PERFORMANCE BOND	AWARDED PROPOSER SHALL SUBMIT WITH THEIR PERFORMANCE BOND	AWARDED PROPOSER SHALL SUBMIT WITH THEIR PERFORMANCE BOND	AWARDED PROPOSER SHALL SUBMIT WITH THEIR PERFORMANCE BOND	AWARDED PROPOSER SHALL SUBMIT WITH THEIR PERFORMANCE BOND	AWARDED PROPOSER SHALL SUBMIT WITH THEIR PERFORMANCE BOND	AWARDED PROPOSER SHALL SUBMIT WITH THEIR PERFORMANCE BOND
MAINTENANCE BOND - TWO YEAR	AWARDED PROPOSER SHALL SUBMIT UPON ACCEPTANCE OF THE WORK IN 100% GUARANTEEING AGAINST DEFECTIVE QUALITY WORK	AWARDED PROPOSER SHALL SUBMIT UPON ACCEPTANCE OF THE WORK IN 100% GUARANTEEING AGAINST DEFECTIVE QUALITY WORK	AWARDED PROPOSER SHALL SUBMIT UPON ACCEPTANCE OF THE WORK IN 100% GUARANTEEING AGAINST DEFECTIVE QUALITY WORK	AWARDED PROPOSER SHALL SUBMIT UPON ACCEPTANCE OF THE WORK IN 100% GUARANTEEING AGAINST DEFECTIVE QUALITY WORK	AWARDED PROPOSER SHALL SUBMIT UPON ACCEPTANCE OF THE WORK IN 100% GUARANTEEING AGAINST DEFECTIVE QUALITY WORK	AWARDED PROPOSER SHALL SUBMIT UPON ACCEPTANCE OF THE WORK IN 100% GUARANTEEING AGAINST DEFECTIVE QUALITY WORK	AWARDED PROPOSER SHALL SUBMIT UPON ACCEPTANCE OF THE WORK IN 100% GUARANTEEING AGAINST DEFECTIVE QUALITY WORK	AWARDED PROPOSER SHALL SUBMIT UPON ACCEPTANCE OF THE WORK IN 100% GUARANTEEING AGAINST DEFECTIVE QUALITY WORK
STATEMENT OF OWNERSHIP DISCLOSURE - MANDATORY	INCLUDED							
PROHIBITED INVESTMENT ACTIVITIES IN IRAN	INCLUDED							
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA #1 ADDENDUM NO. 2 - MANDATORY	INCLUDED	INCLUDED	INCLUDED	INCLUDED	ADDENDUM #2 IS MISSING	INCLUDED	INCLUDED	INCLUDED
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED							
NON-COLLUSION AFFIDAVIT - MANDATORY	INCLUDED							
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED							
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	INCLUDED							
EIC	CERT# 22282 EXP 01/15/28	CERT# 632659 EXP 09/15/24	CERT# 60187 EXP 12/15/27	CERT# 60320 EXP 01/15/26	REQUIRED FROM AWARDED BIDDER SIGNED CONTRACTOR	CERT# 59526 EXP 07/15/25	REQUIRED FROM AWARDED BIDDER SIGNED CONTRACTOR	REQUIRED FROM AWARDED BIDDER SIGNED CONTRACTOR
PUBLIC WORKS CONTRACTOR REGISTRATION	CERT#60175 EXP 04/03/26	REQUIRED FROM AWARDED BIDDER SIGNED CONTRACTOR	CERT#693649 EXP 03/09/26	CERT#619401 EXP 05/29/27	CERT#638293 EXP 09/09/25	CERT# 55489 EXP 08/25/25	REQUIRED PRIOR TO BE AWARDED	
USE OF SUB-CONTRACTOR	NO	YES - SEE ATTACHED	YES- SEE ATTACHED	YES- SEE ATTACHED	YES- SEE ATTACHED			
SUBCONTRACTOR'S LICENSING	N/A	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	NOT INCLUDED
CONTRACTOR'S LICENSING	INCLUDED	REQUIRED PRIOR TO BE AWARDED						
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED							
STATE & FEDERAL DEBARMENT CERTIFICATIONS	INCLUDED							
ETHICS COMPLAINT DISCLOSURE	INCLUDED							
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED PROPOSER WITH SIGNED CONTRACTS							
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED							
60-DAY EXTENSION COMPLIANCE	INCLUDED	YES	INCLUDED	YES	INCLUDED	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	None						
THREE (3) REFERENCES	INCLUDED							
TOTAL AMOUNT	\$5,619,340.00	\$5,734,101.00	\$5,750,914.00	\$5,919,450.00	\$5,947,578.51	\$7,027,890.00		\$7,868,036.00
EXCEPTIONS (IF ANY)	NONE							
FATAL FLAW	NONE	NONE	NONE	NONE	THE ADDENDUM #2 WAS NOT INCLUDED IN BID SUBMITAL	NONE	NONE	NONE

Waters & Bugbee, inc.

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price In Figures	Amount in Figures
1.	A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE	560	EACH		
	Three Thousand Four Hundred Fifty Dollars and Zero Cents			\$ 3,450.00	\$ 1,932,000.00
	(write Unit Price in words)				
1.	A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE	25	EACH		
	Three Thousand Five Hundred Thirty Five Dollars and Zero Cent			\$ 3,535.00	\$ 88,375.00
	(write Unit Price in words)				
1.	B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE	400	EACH		
	Three Thousand Three Hundred Forty Dollars and Zero Cents			\$ 3,340.00	\$ 1,336,000.00
	(write Unit Price in words)				
1.	B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE	20	EACH		
	Three Thousand Two Hundred Sixty Five Dollars and Zero Cents			\$ 3,265.00	\$ 65,300.00
	(write Unit Price in words)				
1.	C. NEW CORP STOP AT MAIN	100	EACH		
	One Hundred Forty Five Dollars and Zero Cents			\$ 145.00	\$ 14,500.00
	(write Unit Price in words)				
1.	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	20	EACH		
	One Thousand Two Hundred Ninety Dollars and Zero Cents			\$ 1,290.00	\$ 25,800.00
	(write Unit Price in words)				
1.	E. WATER METER REPLACEMENT	40	EACH		
	One Hundred Twenty Five Dollars and Zero Cents			\$ 125.00	\$ 5,000.00
	(write Unit Price in words)				
1.	F. ACCESS NOT PROVIDED	40	EACH		
	Three Hundred Ninety Dollars and Zero Cents			\$ 390.00	\$ 15,600.00
	(write Unit Price in words)				
1.	G. CURB STOP IN CONCRETE	700	EACH		
	Three Hundred Fifty Dollars and Zero Cents			\$ 350.00	\$ 245,000.00
	(write Unit Price in words)				
1.	H. LONG-SIDE REPLACEMENT	300	EACH		
	Nine Hundred Fifty Dollars and Zero Cents			\$ 950.00	\$ 285,000.00
	(write Unit Price in words)				
1.	I. NEW CURB BOX (TEST PIT)	50	EACH		
	One Hundred Sixty Five Dollars and Zero Cents			\$ 165.00	\$ 8,250.00
	(write Unit Price in words)				
1.	J. NEW CURB VALVE (HOMEOWNER SIDE)	50	EACH		
	Four Hundred Ninety Dollars and Zero Cents			\$ 490.00	\$ 24,500.00
	(write Unit Price in words)				

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP	150	EACH		
	One Hundred Twenty Dollars and Zero Cents (write Unit Price in words)			<u>\$ 120.00</u>	<u>\$ 18,000.00</u>
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)	300	SY		
	Ninety Four Dollars and Fifty Cents (write Unit Price in words)			<u>\$ 94.50</u>	<u>\$ 28,350.00</u>
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)	1,500	SY		
	Seventy Three Dollars and Zero Cents (write Unit Price in words)			<u>\$ 73.00</u>	<u>\$ 109,500.00</u>
3. C.	FINAL RESTORATION COMPLETED	780	EACH		
	Five Hundred Dollars and Zero Cents (write Unit Price in words)			<u>\$ 500.00</u> (minimum \$500)	<u>\$ 390,000.00</u>
4	ENVIRONMENTAL PROTECTION		LUMP SUM		
	Two Thousand Five Hundred Dollars and Zero Cents (write Lump Sum Price in words)				<u>\$ 2,500.00</u>
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	ONE HUNDRED FIFTY THOUSAND DOLLARS (write Unit Price in words)			<u>\$150,000</u>	<u>\$150,000</u>
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	TWO HUNDRED EIGHTY THOUSAND DOLLARS (write Unit Price in words)			<u>\$280,000</u>	<u>\$280,000</u>
7	FLAGGER TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	ONE HUNDRED TWENTY THOUSAND DOLLARS (write Unit Price in words)			<u>\$120,000</u>	<u>\$120,000</u>
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES	1,100	EACH		
	Thirty Five Dollars and Zero Cents (write Unit Price in words)			<u>\$ 35.00</u>	<u>\$ 38,500.00</u>
9	PERMIT FEE ALLOWANCE		ALLOWANCE		
	THREE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			<u>\$300,000</u>	<u>\$300,000</u>
10	TECHNICIAN ALLOWANCE		ALLOWANCE		
	SIXTY THOUSAND DOLLARS (write Unit Price in words)			<u>\$60,000</u>	<u>\$60,000</u>
	TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)			<u>\$ 5,542,175.00</u>	
	TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)			<u>\$ Five Million Five Hundred Forty Two Thousand One Hundred Seventy Five Dollars and Zero Cents</u>	

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET One Dollar and Zero Cents (write Unit Price in words)	210	CY	\$ 1.00	\$ 210.00
S-2A.	IMPORTED COMMON FILL One Dollar and Zero Cents (write Unit Price in words)	250	CY	\$ 1.00	\$ 250.00
S-2B.	CRUSHED STONE One Dollar and Zero Cents (write Unit Price in words)	25	CY	\$ 1.00	\$ 25.00
S-2C.	DENSE-GRADED AGGREGATE One Dollar and Zero Cents (write Unit Price in words)	45	CY	\$ 1.00	\$ 45.00
S-2D.	FLOWABLE FILL One Hundred Fifty Five Dollars and Zero Cents (write Unit Price in words)	45	CY	\$ 155.00	\$ 6,975.00
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE Three Hundred Twenty Five Dollars and Zero Cents (write Unit Price in words)	100	SY	\$ 325.00	\$ 32,500.00
S-3B.	GRAVEL DRIVEWAY One Dollar and Zero Cents (write Unit Price in words)	35	SY	\$ 1.00	\$ 35.00
S-3C.	BRICK OR ROCK PAVERS Four Hundred Dollars and Zero Cents (write Unit Price in words)	35	CY	\$ 400.00	\$ 14,000.00
S-3D.	ASPHALT PRICE ADJUSTMENT EIGHT THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE Six Hundred Five Dollars and Zero Cents (write Unit Price in words)	25	CY	\$ 605.00	\$ 15,125.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$ 77,165.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$ Seventy Seven Thousand One Hundred Sixty Five Dollars and Zero Cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 5,619,340.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Five Million Six Hundred Nineteen Thousand Three Hundred Forty Dollars and Zero Cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST OF SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID**

(MANDATORY IF APPLICABLE)

NAME **PLUMBER IN HOUSE / SELF PERFORMED (License Attached)**
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO.
TRADE
LICENSE NO.

NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO.
TRADE
LICENSE NO.

NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO.
TRADE
LICENSE NO.

NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO.
TRADE
LICENSE NO.

NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO.
TRADE
LICENSE NO.

DEWCON INC

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE	<i>Four Thousand Dollars</i> (write Unit Price in words)	560	EACH	\$ 4000.00	\$ 224000.00
1. A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE	<i>Four Thousand Dollars</i> (write Unit Price in words)	25	EACH	\$ 4000.00	\$ 10000.00
1. B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE	<i>Thirty Five Hundred Dollars</i> (write Unit Price in words)	400	EACH	\$ 3500.00	\$ 140000.00
1. B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE	<i>Thirty Eight Hundred Dollars</i> (write Unit Price in words)	20	EACH	\$ 3800.00	\$ 76000.00
1. C. NEW CORP STOP AT MAIN	<i>One Dollar</i> (write Unit Price in words)	100	EACH	\$ 1.00	\$ 100.00
1. D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	<i>One Dollar</i> (write Unit Price in words)	20	EACH	\$ 1.00	\$ 20.00
1. E. WATER METER REPLACEMENT	<i>One Dollar</i> (write Unit Price in words)	40	EACH	\$ 1.00	\$ 40.00
1. F. ACCESS NOT PROVIDED	<i>One Dollar</i> (write Unit Price in words)	40	EACH	\$ 1.00	\$ 40.00
1. G. CURB STOP IN CONCRETE	<i>One Dollar</i> (write Unit Price in words)	700	EACH	\$ 1.00	\$ 700.00
1. H. LONG-SIDE REPLACEMENT	<i>Two Hundred Dollars</i> (write Unit Price in words)	300	EACH	\$ 100.00	\$ 30000.00
1. I. NEW CURB BOX (TEST PIT)	<i>One Dollar</i> (write Unit Price in words)	50	EACH	\$ 1.00	\$ 50.00
1. J. NEW CURB VALVE (HOMEOWNER SIDE)	<i>One Dollar</i> (write Unit Price in words)	50	EACH	\$ 1.00	\$ 50.00

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP <i>Two Hundred Dollars</i> (write Unit Price in words)	150	EACH		\$ 400.00 \$ 6000.00
3. A.	FINAL PAVEMENT RESTORATION (Infra-red) <i>One Hundred Dollars</i> (write Unit Price in words)	300	SY		\$ 300.00 \$ 9000.00
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY) <i>Seventy Five Dollars</i> (write Unit Price in words)	1,500	SY		\$ 75.00 \$ 112,500.00
3. C.	FINAL RESTORATION COMPLETED <i>One Thousand Five Hundred Dollars</i> (write Unit Price in words)	780	EACH	\$ 5.00 \$ 1.00 (minimum \$500)	\$ 390,000.00 \$ 750,000.00
4	ENVIRONMENTAL PROTECTION <i>One Dollar</i> (write Lump Sum Price in words)		LUMP SUM		\$ 1.00
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE		
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE <u>TWO HUNDRED EIGHTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE <u>ONE HUNDRED TWENTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$280,000	\$280,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES <i>Fifty Dollars</i> (write Unit Price in words)	1,100	EACH		\$ 50.00 \$ 55,000.00
9	PERMIT FEE ALLOWANCE <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE		
10	TECHNICIAN ALLOWANCE <u>SIXTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
	TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)			\$ 5,674,501.00	
	TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)			\$ <i>Five Million Six Hundred Seventy Four Thousand - Five Hundred One Dollars</i>	

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <i>One Dollar</i> (write Unit Price in words)	210	CY	\$ 1.00	\$ 210.00
S-2A.	IMPORTED COMMON FILL <i>One Dollar</i> (write Unit Price in words)	250	CY	\$ 1.00	\$ 250.00
S-2B.	CRUSHED STONE <i>One Dollar</i> (write Unit Price in words)	25	CY	\$ 1.00	\$ 25.00
S-2C.	DENSE-GRADED AGGREGATE <i>One Dollar</i> (write Unit Price in words)	45	CY	\$ 1.00	\$ 45.00
S-2D.	FLOWABLE FILL <i>Three Hundred Dollars</i> (write Unit Price in words)	45	CY	\$ 300.00	\$ 13,500.00
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <i>Three Hundred Dollars</i> (write Unit Price in words)	100	SY	\$ 300.00	\$ 30,000.00
S-3B.	GRAVEL DRIVEWAY <i>One Dollar</i> (write Unit Price in words)	35	SY	\$ 1.00	\$ 35.00
S-3C.	BRICK OR ROCK PAVERS <i>One Dollar</i> (write Unit Price in words)	35	CY	\$ 1.00	\$ 35.00
S-3D.	ASPHALT PRICE ADJUSTMENT <u>EIGHT THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE <i>Three Hundred Dollars</i> (write Unit Price in words)	25	CY	\$ 300.00	\$ 7,500.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$ 59,600.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$ Fifty-Nine Thousand Six Hundred Dollars			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 5,734,101.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Five Thousand Seven Hundred Thirty-Four Thousand One Hundred One Dollars			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

PROVIDE A LIST OF SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE)

NAME TUCCIANO'S PLUMBING LLC

ADDRESS 19 LINCOLN Ave

CITY, STATE, ZIP E. BRUNSWICK, NJ 08811

TELEPHONE: 732 - 764 - 0224

FAX NO.

TRADE PLUMBER

LICENSE NO. 368009 - 0224

NAME GABE'S PAVING

ADDRESS 2475 EAST STATE St

CITY, STATE, ZIP TRENTON, NJ 08619

TELEPHONE: 609 - 890 - 6648

FAX NO.

TRADE PAVING

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

00100-63

Roman E&G CORP

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE Four Thousand Two Hundred Twenty-Six Dollars and No Cents (write Unit Price in words)	560	EACH	4,226.00	2,366,560.00
1.	A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE Four Thousand Two Hundred Twenty-Six Dollars and No Cents (write Unit Price in words)	25	EACH	4,226.00	105,650.00
1.	B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE Three Thousand Three Hundred Dollars and No Cents (write Unit Price in words)	400	EACH	3,300.00	1,320,000.00
1.	B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE Three Thousand Three Hundred Dollars and No Cents (write Unit Price in words)	20	EACH	3,300.00	66,000.00
1.	C. NEW CORP STOP AT MAIN One Dollar and No Cents (write Unit Price in words)	100	EACH	1.00	100.00
1.	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN One Dollar and No Cents (write Unit Price in words)	20	EACH	1.00	20.00
1.	E. WATER METER REPLACEMENT One Dollar and No Cents (write Unit Price in words)	40	EACH	1.00	40.00
1.	F. ACCESS NOT PROVIDED One Dollar and No Cents (write Unit Price in words)	40	EACH	1.00	40.00
1.	G. CURB STOP IN CONCRETE One Dollar and No Cents (write Unit Price in words)	700	EACH	1.00	700.00
1.	H. LONG-SIDE REPLACEMENT Five Hundred Dollars and No Cents (write Unit Price in words)	300	EACH	500.00	150,000.00
1.	I. NEW CURB BOX (TEST PIT) One Dollar and No Cents (write Unit Price in words)	50	EACH	1.00	50.00
1.	J. NEW CURB VALVE (HOMEOWNER SIDE) One Dollar and No Cents (write Unit Price in words)	50	EACH	1.00	50.00

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP	150	EACH		
	One Thousand Three Hundred Dollars and No Cents (write Unit Price in words)			1,300.00	195,000.00
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)	300	SY		
	One Hundred Dollars and No Cents (write Unit Price in words)			100.00	30,000.00
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)	1,500	SY		
	Twenty-Nine Dollars and No Cents (write Unit Price in words)			29.00	43,500.00
3. C.	FINAL RESTORATION COMPLETED	780	EACH		
	Five hundred Dollars and No Cents (write Unit Price in words)			500.00 (minimum: \$500)	390,000.00
4	ENVIRONMENTAL PROTECTION		LUMP SUM		
	Five Thousand Four Dollars and No Cents (write Lump Sum Price in words)				5,004.00
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	ONE HUNDRED FIFTY THOUSAND DOLLARS (write Unit Price in words)			\$150,000	\$150,000
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	TWO HUNDRED EIGHTY THOUSAND DOLLARS (write Unit Price in words)			\$280,000	\$280,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	ONE HUNDRED TWENTY THOUSAND DOLLARS (write Unit Price in words)			\$120,000	\$120,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES	1,100	EACH		
	Forty Dollars and No Cents (write Unit Price in words)			40.00	44,000.00
9	PERMIT FEE ALLOWANCE		ALLOWANCE		
	THREE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			\$300,000	\$300,000
10	TECHNICIAN ALLOWANCE		ALLOWANCE		
	SIXTY THOUSAND DOLLARS (write Unit Price in words)			\$60,000	\$60,000
	TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)			\$ 5,626,714.00	
	TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)			\$ Five Million Six Hundred Twenty-Six Thousand Seven Hundred Fourteen Dollars and No Cents	

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET One Dollar and No Cents (write Unit Price in words)	210	CY	1.00	210.00
S-2A.	IMPORTED COMMON FILL One Dollar and No Cents (write Unit Price in words)	250	CY	1.00	250.00
S-2B.	CRUSHED STONE One Dollar and No Cents (write Unit Price in words)	25	CY	1.00	25.00
S-2C.	DENSE-GRADED AGGREGATE One Dollar and No Cents (write Unit Price in words)	45	CY	1.00	45.00
S-2D.	FLOWABLE FILL One Hundred Eighty Dollars and No Cents (write Unit Price in words)	45	CY	180.00	8,100.00
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE Three Hundred Fifty Dollars and No Cents (write Unit Price in words)	100	SY	350.00	35,000.00
S-3B.	GRAVEL DRIVEWAY One Dollar and No Cents (write Unit Price in words)	35	SY	1.00	35.00
S-3C.	BRICK OR ROCK PAVERS One Dollar and No Cents (write Unit Price in words)	35	CY	1.00	35.00
S-3D.	ASPHALT PRICE ADJUSTMENT EIGHT THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE Two Thousand Nine hundred Dollars and No Cents (write Unit Price in words)	25	CY	2,900.00	72,500.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$ 124,200.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$ One Hundred Twenty-Four Thousand Two Hundred Dollars and No Cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 5,750,914.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Five Million Seven Hundred Fifty Thousand Nine Hundred Fourteen Dollars and No Cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST OF SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID**

(MANDATORY IF APPLICABLE)

NAME Cooper Plumbing and Mechanical
ADDRESS 40 Patterson Ave
CITY, STATE, ZIP Hamilton, NJ 08610
TELEPHONE: 609-658-7242
FAX NO. n/a
TRADE Plumbing
LICENSE NO. 36BI01079000

NAME Garland and Sons Contracting LLC
ADDRESS 646 Rutherford Ave
CITY, STATE, ZIP Trenton, NJ 08618
TELEPHONE: 609-638-8995
FAX NO. n/a
TRADE Home Improvement
LICENSE NO. 13VH11142400

NAME Brent Materials
ADDRESS 325 Columbia Turnpike
CITY, STATE, ZIP Florham Park, NJ 07932
TELEPHONE: 973-325-3030
FAX NO. 973-325-7360
TRADE No trade - material supplier only
LICENSE NO. n/a

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Pacific Construction

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE	560	EACH		
	Three thousand seven hundred (write Unit Price in words)			3750	\$ 21,000.00
1.	A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE	25	EACH		
	Three thousand seven hundred (write Unit Price in words)			3750	\$ 93,750.00
1.	B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE	400	EACH		
	Three thousand seven hundred (write Unit Price in words)			3750	\$ 1,500,000.00
1.	B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE	20	EACH		
	Three thousand seven hundred (write Unit Price in words)			3750	\$ 75,000.00
1.	C. NEW CORP STOP AT MAIN	100	EACH		
	Five hundred Dollars (write Unit Price in words)			500	\$ 50,000.00
1.	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	20	EACH		
	Five hundred Dollars (write Unit Price in words)			500	\$ 10,000.00
1.	E. WATER METER REPLACEMENT	40	EACH		
	One hundred Dollars (write Unit Price in words)			100	\$ 400.00
1.	F. ACCESS NOT PROVIDED	40	EACH		
	One thousand Dollars (write Unit Price in words)			1,000	\$ 40,000.00
1.	G. CURB STOP IN CONCRETE	700	EACH		
	One hundred fifty Dollars (write Unit Price in words)			150	\$ 105,000.00
1.	H. LONG-SIDE REPLACEMENT	300	EACH		
	Five hundred Dollars (write Unit Price in words)			500	\$ 150,000.00
1.	I. NEW CURB BOX (TEST PIT)	50	EACH		
	Two hundred Dollars (write Unit Price in words)			200	\$ 10,000.00
1.	J. NEW CURB VALVE (HOMEOWNER SIDE)	50	EACH		
	Two hundred Dollars (write Unit Price in words)			200	\$ 10,000.00

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP	150	EACH		
	<u>Six hundred Forty Dollars</u> (write Unit Price in words)			\$ 650 ⁰⁰	\$ 97,500 ⁰⁰
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)	300	SY		
	<u>One hundred fifty Dollars</u> (write Unit Price in words)			\$ 150 ⁰⁰	\$ 45,000 ⁰⁰
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)	1,500	SY		
	<u>Seventy five Dollars</u> (write Unit Price in words)			\$ 75 ⁰⁰	\$ 112,500 ⁰⁰
3. C.	FINAL RESTORATION COMPLETED	780	EACH		
	<u>Five hundred Dollars</u> (write Unit Price in words)			\$ 500 ⁰⁰ (minimum \$500)	\$ 390,000 ⁰⁰
4	ENVIRONMENTAL PROTECTION		LUMP SUM		
	<u>Ten thousand Dollars</u> (write Lump Sum Price in words)				\$ 10,000 ⁰⁰
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	<u>ONE HUNDRED FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$150,000	\$150,000
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	<u>TWO HUNDRED EIGHTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$280,000	\$280,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	<u>ONE HUNDRED TWENTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$120,000	\$120,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES	1,100	EACH		
	<u>One hundred Dollars</u> (write Unit Price in words)			\$ 100 ⁰⁰	\$ 110,000 ⁰⁰
9	PERMIT FEE ALLOWANCE		ALLOWANCE		
	<u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)			\$300,000	\$300,000
10	TECHNICIAN ALLOWANCE		ALLOWANCE		
	<u>SIXTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$60,000	\$60,000
TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)		\$ 5,822,750 ⁰⁰			
TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)		<u>\$ Five million eight hundred twenty two thousand seven hundred fifty Dollars and zero Cents</u>			

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>Two hundred fifty Dollars</u> (write Unit Price in words)	210	CY	\$ 250 ⁰⁰	\$ 52,500 ⁰⁰
S-2A.	IMPORTED COMMON FILL <u>Ten Dollars</u> (write Unit Price in words)	250	CY	\$ 10 ⁰⁰	\$ 2,500 ⁰⁰
S-2B.	CRUSHED STONE <u>Ten Dollars</u> (write Unit Price in words)	25	CY	\$ 10 ⁰⁰	\$ 250 ⁰⁰
S-2C.	DENSE-GRADED AGGREGATE <u>Ten Dollars</u> (write Unit Price in words)	45	CY	\$ 10 ⁰⁰	\$ 450 ⁰⁰
S-2D.	FLOWABLE FILL <u>Two hundred Dollars</u> (write Unit Price in words)	45	CY	\$ 200 ⁰⁰	\$ 9,000 ⁰⁰
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>One hundred fifty Dollars</u> (write Unit Price in words)	100	SY	\$ 150 ⁰⁰	\$ 15,000 ⁰⁰
S-3B.	GRAVEL DRIVEWAY <u>Fifty Dollars</u> (write Unit Price in words)	35	SY	\$ 50 ⁰⁰	\$ 1,750 ⁰⁰
S-3C.	BRICK OR ROCK PAVERS <u>One hundred Dollars</u> (write Unit Price in words)	35	CY	\$ 100 ⁰⁰	\$ 3,500 ⁰⁰
S-3D.	ASPHALT PRICE ADJUSTMENT <u>EIGHT THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC CONCRETE <u>One hundred fifty Dollars</u> (write Unit Price in words)	25	CY	\$ 150 ⁰⁰	\$ 3,750 ⁰⁰
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)					
\$ 96,700 ⁰⁰					
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)					
\$ Ninety six thousand seven hundred Dollars					
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES					
\$ 5,919,450					
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS					
\$ Five million nine hundred nineteen thousand four hundred fifty Dollars and zero Cents					

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST OF SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID**

(MANDATORY IF APPLICABLE)

NAME Max Plumbing and Heating Inc
ADDRESS 7 Evans Terminal Rd.
CITY, STATE, ZIP Hillside, NJ 07205
TELEPHONE: 908-353-5004
FAX NO. 908-820-8660
TRADE Plumbing
LICENSE NO. 310B101-039300

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

GRADE Construction

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE Three Thousand Two Hundred Twenty Six Dollars and Seventy One Cents (write Unit Price in words)	560	EACH	\$ 3,226.71	\$ 1,806,957.60
1.	A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE Three Thousand Seven Hundred Ninety One Dollars and Twenty Two Cents (write Unit Price in words)	25	EACH	\$ 3,791.22	\$ 94,780.50
1.	B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE Two Thousand Six Hundred Seventy Dollars and Seventy One Cents (write Unit Price in words)	400	EACH	\$ 2,670.71	\$ 1,068,284.00
1.	B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE Three Thousand Two Hundred Sixty Five Dollars and Twenty Three Cents (write Unit Price in words)	20	EACH	\$ 3,265.23	\$ 65,304.60
1.	C. NEW CORP STOP AT MAIN Four Hundred Thirty Dollars and Ninety Seven Cents (write Unit Price in words)	100	EACH	\$ 430.97	\$ 43,097.00
1.	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN One Thousand Seven Hundred Thirty One Dollars and Fifty Seven Cents (write Unit Price in words)	20	EACH	\$ 1,731.57	\$ 34,631.40
1.	E. WATER METER REPLACEMENT Eight Hundred Four Dollars and Ninety Three Cents (write Unit Price in words)	40	EACH	\$ 804.93	\$ 32,197.20
1.	F. ACCESS NOT PROVIDED Four Hundred Eighty Eight Dollars and Four Cents (write Unit Price in words)	40	EACH	\$ 488.04	\$ 19,521.60
1.	G. CURB STOP IN CONCRETE Two Hundred Forty Dollars and Fifty Two Cents (write Unit Price in words)	700	EACH	\$ 240.52	\$ 168,364.00
1.	H. LONG-SIDE REPLACEMENT One Thousand Six Hundred Ninety One Dollars and Thirty Four Cents (write Unit Price in words)	300	EACH	\$ 1,691.34	\$ 507,402.00
1.	I. NEW CURB BOX (TEST PIT) Six Hundred Ninety One Dollars and Twenty Two Cents (write Unit Price in words)	50	EACH	\$ 691.22	\$ 34,561.00
1.	J. NEW CURB VALVE (HOMEOWNER SIDE) Two Hundred Fifty Six Dollars and Eight Cents (write Unit Price in words)	50	EACH	\$ 256.08	\$ 12,804.00

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP	150	EACH		
	One Thousand Thirty Dollars and Twenty Two Cents (write Unit Price in words)			\$ 1,030.22	\$ 154,533.00
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)	300	SY		
	One Hundred Forty Four Dollars and Sixty Nine Cents (write Unit Price in words)			\$ 144.69	\$ 43,407.00
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)	1,500	SY		
	Twenty Eight Dollars and Seventy One Cents (write Unit Price in words)			\$ 28.71	\$ 43,065.00
3. C.	FINAL RESTORATION COMPLETED	780	EACH		
	Five Hundred Dollars and No Cents (write Unit Price in words)			\$ 500.00 (minimum \$500)	\$ 390,000.00
4	ENVIRONMENTAL PROTECTION		LUMP SUM		
	Three Hundred Seventy Six Thousand Eighty One Dollars and Ninety One Cents (write Lump Sum Price in words)				\$ 376,081.91
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	ONEHUNDREDFIFTY THOUSAND DOLLARS (write Unit Price in words)			\$150,000	\$150,000
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	TWO HUNDRED EIGHTY THOUSAND DOLLARS (write Unit Price in words)			\$280,000	\$280,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	ONE HUNDRED TWENTY THOUSAND DOLLARS (write Unit Price in words)			\$120,000	\$120,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES	1,100	EACH		
	Thirty Nine Dollars and Thirty Seven Cents (write Unit Price in words)			\$ 39.37	\$ 43,307.00
9	PERMIT FEE ALLOWANCE		ALLOWANCE		
	THREE HUNDRED THOUSAND DOLLARS (write Unit Price in words)			\$300,000	\$300,000
10	TECHNICIAN ALLOWANCE		ALLOWANCE		
	SIXTY THOUSAND DOLLARS (write Unit Price in words)			\$60,000	\$60,000
	TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)			\$ 5,848,298.81	
	TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)			\$ Five Million Eight Hundred Forty Eight Thousand Two Hundred Ninety Eight Dollars and Eighty One Cents	

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET One Hundred Fourteen Dollars and Eighty Two Cents (write Unit Price in words)	210	CY	\$ 114.82	\$ 24,112.20
S-2A.	IMPORTED COMMON FILL Fifty Seven Dollars and Thirty One Cents (write Unit Price in words)	250	CY	\$ 57.31	\$ 14,327.50
S-2B.	CRUSHED STONE Sixty Seven Dollars and Seventy Cents (write Unit Price in words)	25	CY	\$ 67.70	\$ 1,692.50
S-2C.	DENSE-GRADED AGGREGATE Fifty Six Dollars and Seventy Five Cents (write Unit Price in words)	45	CY	\$ 56.75	\$ 2,553.75
S-2D.	FLOWABLE FILL Two Hundred Ninety Five Dollars and Sixty Two Cents (write Unit Price in words)	45	CY	\$ 295.62	\$ 13,302.90
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE Eighty Nine Dollars and Ninety Four Cents (write Unit Price in words)	100	SY	\$ 89.94	\$ 8,994.00
S-3B.	GRAVEL DRIVEWAY Fifty Four Dollars and Ninety Seven Cents (write Unit Price in words)	35	SY	\$ 54.97	\$ 1,923.95
S-3C.	BRICK OR ROCK PAVERS Two Hundred Eight Dollars and Twenty Four Cents (write Unit Price in words)	35	CY	\$ 208.24	\$ 7,288.40
S-3D.	ASPHALT PRICE ADJUSTMENT EIGHT THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE Six Hundred Eighty Three Dollars and Thirty Eight Cents (write Unit Price in words)	25	CY	\$ 683.38	\$ 17,084.50
TOTAL SUPPLEMENTAL PRICE IN FIGURES (\$-1A through S-3E)		\$ 99,279.70			
TOTAL SUPPLEMENTAL PRICE IN WORDS (\$-1A through S-3E)		Ninety Nine Thousand Two Hundred Seventy Nine Dollars and Seventy Cents			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 5,947,578.51			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		Five Million Nine Hundred Forty Seven Thousand Five Hundred Seventy Eight Dollars and Fifty One Cents			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

PROVIDE A LIST OF SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE)

NAME SELF PERFORMED IN HOUSE BY GRADE CONSTRUCTION
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE STRUCTURAL STEEL
LICENSE NO. _____

NAME Brian Trematore Plumbing & Heating
ADDRESS 5 Daniel Rd.
CITY, STATE, ZIP Fairfield, NJ
TELEPHONE: (973) 227-8330
FAX NO. _____
TRADE Plumbing
LICENSE NO. 36BI00692200

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Under Ground UTILITIES

PRICE SCHEDULE
 TRENTON WATER WORKS
 LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
 BID2025-18B
 BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1. A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE	<i>Five Thousand Five Hundred Dollars.</i> (write Unit Price in words)	560	EACH	\$ 5500	\$ 30,800,000
1. A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE	<i>Five Thousand Five Hundred Dollars</i> (write Unit Price in words)	25	EACH	\$ 5,500	\$ 137,500
1. B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE	<i>Four Thousand Eight Hundred Dollars</i> (write Unit Price in words)	400	EACH	\$ 4,800	\$ 1,920,000
1. B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE	<i>Four Thousand Eight Hundred Dollars.</i> (write Unit Price in words)	20	EACH	\$ 4,800	\$ 96,000
1. C. NEW CORP STOP AT MAIN	<i>One Hundred Fifty Dollars.</i> (write Unit Price in words)	100	EACH	\$ 150	\$ 15,000
1. D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN	<i>Five Hundred Dollars.</i> (write Unit Price in words)	20	EACH	\$ 500	\$ 10,000
1. E. WATER METER REPLACEMENT	<i>One Hundred Dollars</i> (write Unit Price in words)	40	EACH	\$ 100	\$ 4,000
1. F. ACCESS NOT PROVIDED	<i>One Dollar</i> (write Unit Price in words)	40	EACH	\$ 1	\$ 40
1. G. CURB STOP IN CONCRETE	<i>One Dollar</i> (write Unit Price in words)	700	EACH	\$ 1	\$ 700
1. H. LONG-SIDE REPLACEMENT	<i>Five Hundred Dollars.</i> (write Unit Price in words)	300	EACH	\$ 500	\$ 150,000
1. I. NEW CURB BOX (TEST PIT)	<i>Six Hundred Dollars.</i> (write Unit Price in words)	50	EACH	\$ 600	\$ 30,000
1. J. NEW CURB VALVE (HOMEOWNER SIDE)	<i>One Dollar</i> (write Unit Price in words)	50	EACH	\$ 1	\$ 50

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price In Figures	Amount In Figures
2.	TEST PIT AT CURB STOP <u>Six Hundred Dollars</u> (write Unit Price in words)	150	EACH	\$ 600	\$ 90,000
3. A.	FINAL PAVEMENT RESTORATION (Infra-red) <u>One Hundred Fifty Dollars</u> (write Unit Price in words)	300	SY	\$ 150	\$ 45,000
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY) <u>Thirty Dollars</u> (write Unit Price in words)	1,500	SY	\$ 30	\$ 45,000
3. C.	FINAL RESTORATION COMPLETED <u>Five Hundred Dollars.</u> (write Unit Price in words)	780	EACH	\$ 500 (minimum \$500)	\$ 390,000
4	ENVIRONMENTAL PROTECTION <u>Ten Thousand Dollars.</u> (write Lump Sum Price in words)		LUMP SUM		\$ 10,000
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER <u>ONE HUNDRED FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$150,000	\$150,000
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE <u>TWO HUNDRED EIGHTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$280,000	\$280,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE <u>ONE HUNDRED TWENTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$120,000	\$120,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES <u>Fifty Dollars.</u> (write Unit Price in words)	1,100	EACH	\$ 50	\$ 55,000
9	PERMIT FEE ALLOWANCE <u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$300,000	\$300,000
10	TECHNICIAN ALLOWANCE <u>SIXTY THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$60,000	\$60,000
TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)		\$ 6,988,290.00			
TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)		\$ Six million Nine Hundred Eighty Eight Thousand Two Hundred Ninety Dollars, and Zero Cents.			

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET <u>One Dollar</u> (write Unit Price in words)	210	CY	\$ 1	\$ 210
S-2A.	IMPORTED COMMON FILL <u>One Dollar</u> (write Unit Price in words)	250	CY	\$ 1	\$ 250
S-2B.	CRUSHED STONE <u>One Dollar</u> (write Unit Price in words)	25	CY	\$ 1	\$ 25
S-2C.	DENSE-GRADED AGGREGATE <u>One Dollar</u> (write Unit Price in words)	45	CY	\$ 1	\$ 45
S-2D.	FLOWABLE FILL <u>Three Hundred Dollars</u> (write Unit Price in words)	45	CY	\$ 300	\$ 13,500
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE <u>One Hundred Dollars.</u> (write Unit Price in words)	100	SY	\$ 100	\$ 10,000
S-3B.	GRAVEL DRIVEWAY <u>One Dollar</u> (write Unit Price in words)	35	SY	\$ 1	\$ 35
S-3C.	BRICK OR ROCK PAVERS <u>One Dollar</u> (write Unit Price in words)	35	CY	\$ 1	\$ 35
S-3D.	ASPHALT PRICE ADJUSTMENT <u>EIGHT THOUSAND DOLLARS</u> (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE <u>Three Hundred Dollars.</u> (write Unit Price in words)	25	CY	\$ 300	\$ 7500
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$ 39,600.00			
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$ Thirty Nine Thousand Six Hundred Dollars.			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$ 7,027,890.00			
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$ Seven Million Twenty Seven Thousand Eight Hundred Ninety Dollars.			

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

**PROVIDE A LIST OF SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID**

(MANDATORY IF APPLICABLE)

NAME Cooper Plumbing and Mechanical
ADDRESS 40 Patterson Avenue
CITY, STATE, ZIP Trenton, New Jersey 08610
TELEPHONE: 609-586-1813
FAX NO. _____
TRADE Plumbing
LICENSE NO. 36BIO1079000

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

MILLER PIPELINE, LLC

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
BASE BID

This project is funded through the SRF program. The total dollar amount of the construction project will not exceed the funds available. The number of water service lines will be adjusted based on the accepted unit price bid to stay within budget.

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
1.	A-1. WATER SERVICE REPLACEMENT - UTILITY SIDE five thousand six hundred twelve dollars (write Unit Price in words)	560	EACH	\$ 5,612.00	\$ 3,142,720.00
1.	A-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - UTILITY SIDE five thousand nine hundred forty dollars (write Unit Price in words)	25	EACH	\$ 5,940.00	\$ 148,500.00
1.	B-1. WATER SERVICE REPLACEMENT - HOMEOWNER SIDE five thousand one hundred seventy dollars (write Unit Price in words)	400	EACH	\$ 5,170.00	\$ 2,068,000.00
1.	B-2. WATER SERVICE REPLACEMENT (SOUTH BROAD STREET) - HOMEOWNER SIDE six thousand one hundred twenty four dollars (write Unit Price in words)	20	EACH	\$ 6,124.00	\$ 122,480.00
1.	C. NEW CORP STOP AT MAIN one thousand six hundred seventy eight dollars (write Unit Price in words)	100	EACH	\$ 1,678.00	\$ 167,800.00
1.	D. TRANSFER WATER SERVICE CONNECTION TO NEW/LARGER WATER MAIN four thousand twenty eight dollars (write Unit Price in words)	20	EACH	\$ 4,028.00	\$ 80,560.00
1.	E. WATER METER REPLACEMENT two hundred thirty-two dollars (write Unit Price in words)	40	EACH	\$ 232.00	\$ 9,280.00
1.	F. ACCESS NOT PROVIDED one hundred two dollars (write Unit Price in words)	40	EACH	\$ 102.00	\$ 4,080.00
1.	G. CURB STOP IN CONCRETE two hundred ninety-eight dollars (write Unit Price in words)	700	EACH	\$ 298.00	\$ 208,600.00
1.	H. LONG-SIDE REPLACEMENT four hundred thirty-two dollars (write Unit Price in words)	300	EACH	\$ 432.00	\$ 129,600.00
1.	I. NEW CURB BOX (TEST PIT) two hundred two dollars (write Unit Price in words)	50	EACH	\$ 202.00	\$ 10,100.00
1.	J. NEW CURB VALVE (HOMEOWNER SIDE) two hundred fifty-four dollars (write Unit Price in words)	50	EACH	\$ 254.00	\$ 12,700.00

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
2.	TEST PIT AT CURB STOP	150	EACH		
	<u>six hundred fifty-two dollars</u> (write Unit Price in words)			\$ 652.00	\$ 97,800.00
3. A.	FINAL PAVEMENT RESTORATION (Infra-red)	300	SY		
	<u>one hundred four dollars</u> (write Unit Price in words)			\$ 104.00	\$ 31,200.00
3. B.	FINAL PAVEMENT RESTORATION (Mill and Paving) (GUARANTEED MINIMUM 1,000 SY)	1,500	SY		
	<u>fifty eight dollars</u> (write Unit Price in words)			\$ 58.00	\$ 87,000.00
3. C.	FINAL RESTORATION COMPLETED	780	EACH		
	<u>five hundred six dollars</u> (write Unit Price in words)			\$ 506.00	\$ 394,680.00
					(minimum \$500)
4	ENVIRONMENTAL PROTECTION		LUMP SUM		
	<u>ten thousand one hundred twenty-six dollars</u> (write Lump Sum Price in words)				\$ 10,126.00
5	MISCELLANEOUS WORK AT DIRECTION OF THE OWNER		ALLOWANCE		
	<u>ONE HUNDRED FIFTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$150,000	\$150,000
6	UNIFORMED POLICE TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	<u>TWO HUNDRED EIGHTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$280,000	\$280,000
7	FLAGGER TRAFFIC CONTROL ALLOWANCE		ALLOWANCE		
	<u>ONE HUNDRED TWENTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$120,000	\$120,000
8	PITCHER FILTERS AND REPLACEMENT CARTRIDGES	1,100	EACH		
	<u>one hundred two dollars</u> (write Unit Price in words)			\$ 102.00	\$ 112,200.00
9	PERMIT FEE ALLOWANCE		ALLOWANCE		
	<u>THREE HUNDRED THOUSAND DOLLARS</u> (write Unit Price in words)			\$300,000	\$300,000
10	TECHNICIAN ALLOWANCE		ALLOWANCE		
	<u>SIXTY THOUSAND DOLLARS</u> (write Unit Price in words)			\$60,000	\$60,000
TOTAL BASE BID PRICE IN FIGURES (Items 1A-1 through 10)		\$		7,747,426.00	
TOTAL BASE BID PRICE IN WORDS (Items 1A-1 through 10)		\$		seven million seven hundred forty-seven thousand four hundred twenty-six dollars	

PRICE SCHEDULE
TRENTON WATER WORKS
LEAD SERVICE LINE REPLACEMENT PROJECT - PHASE 5B - TRENTON
BID2025-18B
SUPPLEMENTAL BID

Item No.	Bid Item Description	Estimated Quantities	Units	Unit Price in Figures	Amount in Figures
S-1A.	LEAD SERVICE LINE EXCAVATION GREATER THAN 5 FEET two hundred two dollars (write Unit Price in words)	210	CY	202.00	\$ 42,420.00
S-2A.	IMPORTED COMMON FILL seventy-six dollars (write Unit Price in words)	250	CY	76.00	\$ 19,000.00
S-2B.	CRUSHED STONE thirty eight dollars (write Unit Price in words)	25	CY	38.00	\$ 950.00
S-2C.	DENSE-GRADED AGGREGATE thirty-eight dollars (write Unit Price in words)	45	CY	38.00	\$ 1,710.00
S-2D.	FLOWABLE FILL two hundred two dollars (write Unit Price in words)	45	CY	202.00	\$ 9,090.00
S-3A.	INITIAL PAVEMENT RESTORATION WITH CONCRETE SUBBASE two hundred fifty-eight dollars (write Unit Price in words)	100	SY	258.00	\$ 25,800.00
S-3B.	GRAVEL DRIVEWAY twenty-two dollars (write Unit Price in words)	35	SY	22.00	\$ 770.00
S-3C.	BRICK OR ROCK PAVERS one hundred fifty-two dollars (write Unit Price in words)	35	CY	152.00	\$ 5,320.00
S-3D.	ASPHALT PRICE ADJUSTMENT EIGHT THOUSAND DOLLARS (write Unit Price in words)		ALLOWANCE	\$8,000	\$8,000
S-3E.	MISC. CONCRETE three hundred two dollars (write Unit Price in words)	25	CY	302.00	\$ 7,550.00
TOTAL SUPPLEMENTAL PRICE IN FIGURES (S-1A through S-3E)		\$	120,610.00		
TOTAL SUPPLEMENTAL PRICE IN WORDS (S-1A through S-3E)		\$	one hundred twenty thousand six hundred ten dollars		
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN FIGURES		\$	7,868,036.00		
TOTAL BASE BID PRICE PLUS SUPPLEMENTAL PRICE IN WORDS		\$	seven million eight hundred sixty-eight thousand thirty-six dollars		

Contract award will be based on the total of the base bid price plus all supplemental bid items, even if some or all of the supplemental bid items are not ultimately included in the contract.

PROVIDE A LIST OF SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE)

NAME SE Mechanical
ADDRESS 450 Georgia Tavern Road
CITY, STATE, ZIP Howell, NJ 07731
TELEPHONE: 908-415-1976
FAX NO. _____
TRADE Plumbing
LICENSE NO. _____

NAME Atlantic Infra-Red
ADDRESS 5042 Industrial Road Suite A
CITY, STATE, ZIP Wall Township, NJ 07727
TELEPHONE: 732-899-8994
FAX NO. _____
TRADE Infrared
LICENSE NO. _____

NAME RVC Construction LLC
ADDRESS 200 Ferry Street
CITY, STATE, ZIP Newark, NJ 07105
TELEPHONE: 862-235-2250
FAX NO. _____
TRADE Concrete and Paving
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____